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\hE AT IT AT IT
FREEE
REYE 11 31,089 31,089
Yz ~ IR e 12 303,198 319,764
BEMYIE 13 500,053 458,571
IRESE N T ER 15 79,742 77,851
PR [ 122 /) 48] BE 1 1 16 15,823 23,811
®E 17 1,002 1,602
930,907 912,688
REEE
BNERPZEHNIEINE 18 298,970 256,726
BREMAYIE 13 2,014,695 1,292,569
EUNERIE ~ IRERIENNIE 19 375,369 337,597
i —F/N=TIRINE /¢ 487 10,042
HEPEHIEREZ R 43,198 94,021
BE 17 10,000 10,000
oRERIE 1,288 850
BEERBZBITER 21,976 3,607
IRITIREGRRIRE 154,463 135,298
2,920,446 2,140,710
mEBaE
ENERPZEHNIENE 18 144,273 183,181
BHREREEER 20 526,470 475,967
RE B E 2 FNE 11,539 9,292
fERE 7,341 12,069
MERNRE — —TARIE 21 24,072 42,374
B — —ENIE 22 2,239,380 167,301
2,953,075 890,184
e (BfE) BERE (32,629) 1,250,526
BERERAEEE 898,278 2,163,214
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FREBEE
MEBNRAE — — TR 21 14,434 29,148
B — —E&EE 22 254,908 1,505,907
ELERIE 23 13,322 7,718
282,664 1,542,773
DEITRER 2,365 107
BE2RE 613,249 620,334
AR fE
EZN 24 72,455 72,455
E= 26 540,794 547,879
613,249 620,334
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